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INSTRUCTIONS TO CANDIDATES

'1 . lmmediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
It any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C or D in the appropriate space
provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Student lD, e.p. Code, euestion Booklet
version code and affix signature on the oMR sheet. As the answer sheets are designed
to suit the optical Mark Reader (oMR) system, special care should be taken to fill
those items accurately.

4. This Question Booklet contains 55 questions, part - A contains 40 questions of one mark
each. Part - B contains 15 questions of two marks each. Alt questions must be
attempted. Each question contains four answers, among them one correct answer
shourd be serected and shade the corresponding option in the oMR sheet.

5' All the answers shourd be marked onry on the oMR sheet provided and onry with a
ila,ck or blue ink bail point pen. rf more than one circre is shaded / wrongry s'haded /half shaded for a given question no marks will be awarded.

6' Questions are in both Engrish and Kannada. rf any confusion arises in the Kannadaversion, please refer to the English version of the questions.
7. lmmediatery afterthe finar beil indicating the crosure of the examination, stop makingany further markings in the oMR Answer sheet. Be seated tiil the oMR Answer sheetis collected. After handing over the OMR Answer Sheet to the lnvigilator you mayleave the examination hall.
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PART _ A

aqrod - n
Answer all questions. Each question carries 1 mark.
oerr_ ddfeii" w$oa. ge ddobl eroddab dooa$dd.

1. The nearly perfect source of energy is

(40x1=40)

A) Coal B) Naturatgas C) petrol D) Tar
edrod domad:tDootid d€o$ d:rae)
A) do_d.er B) {inrd eroe.r C) drigee:" D) r.Do6

2. Who invented Telescope ?
A) Nicholas Copernicus B) Galileo
C) Oldham D) Einstein

dOnorean e$ u"r{oad ozo;:
A) Odoec.:;,r-' dod0rd=' B) rioOoJoe
C) re.t;dr D) acdc$oc

3. Expand DNA.
A) Deoxyribo Nucleic Acid B) De-ribo Nucleic Acid
C) Deoxy Nucleic Acid D) None

DNA o$$ AiorJ.€( --o

A) auEdraloe drJdS_6' erd:r@" B) a-drz.3ne dJads_6" erdA,a.

C) aerE dorttr cldirar D) oJn{dn ere.:_

4. To whom we will call as a "Missile Man of lndia" ?
A) H. J. Bhabha B) Vikram Sarabhai
C) A. P. J. Abdul Kalam D) Sathyendra Basu

"qraddd tdsd *$4" aod: od:rdd1 ddod:o&$d ?
A) datr. d. qnqn B) Ogdf .ao-oqrooo)

C) a. .u d. ou:roo'doao D) idreogi uxb

5. The birth place of the word Renaissance
A) ltaly B) America C) lndia D) Australia
'o{E)q erfrao'{dd:*gdd' ddd adid
A) eBO B) ed:eoro C) tlodd D) er&eOo$D

A

SPACE FOR ROUGH WORK
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6. Transgenic plants are

A) native
B) contain foreign genes in their cells

C) used to produce disease and pest resistance crops

D) both B) and C)

t,gqdouc ndzidc/ a3:ddsb oodd
A) {dea
B) ddldoedddo_ adea dodar&ddd1 dnoad:dd
C) raooxi $Q see od,oedd e3€rid eruo;Cdoi:O- addorb$d
D) B) ub*C);ddo

7. Third generation biofuels are made up of
A) Animal fats B) Agricultural waste

C) Algae D) Engineered plants

drodde deJ&aod {ad ro$ddddl eoddohodorb.Jd.

I fl ilt fl ll lilt !fl I [!ll illl lill

B) draorq
D) ood&o$dr idrddo

language.

C) Sanskrit D) English

D) uod

in the

A) agdad, dot^r;iv{>

C) aa?;

8. The word Science comes from
A) Latin B) Greek

+r.3iDEd
A) "aomod d, ufrcs"
C) {dgeao" (ae.rrdd)

{o" aoudd{ qDdor>od t^lcod.

A) enr$if B) 0e6" C) iode
9. Global warming is primarily a problem of too much

atmosphere.
A) Carbon dioxide
C) Hydrogen

a'ooaddeadO_ dzlfl uodd

B) Oxygen
D) Nitrogen

.a$d)dood usarl Sd sDd*add)

B) u$;:dd
D) mdadd

A

SPACE FOR ROUGH WORK
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10. Expand NDDB.
A) National Dairy Development Board
C) National Daily Development Board

NDDB o$dJ aio,$.
A) oardtier ddO ddee'd)oo.tr aloea"r
C) oardder {O dde.rard:ot^f eJnea"r

adea

U',J

LIJ.'ddrdo ere.>

{o dde.ra.d:otf eloeasr F

11. Which of the following State is the largest producer of milk ?

A) Maharashtra B) Guiarat

C) Tamil Nadu D) Uttar Pradesh

€r dddod oud oaqd a'aod vuoa$dod:o- $d::eD;o*ddo-d ?

A) abaaoa{ B) rbzroad

C) drutrooad: D) w$d$ded

12. 'Origin of Species'was written by

A) Weismann B) Oparin C) Newton D) Darwin

't oaoc erw' FiituF. eQ z^rddd&

A) {F,dDdil"- B1 u*oan c) dro,rr36r D) aaorilr

13. The observed increase in the average temperature of the air near eadh's

surface and oceans in recent decades is due to

A) Environment change B) Globalwarming

C) Health change D) None

qgc?Jd dddlidO- z'Jooodr $-dl n#dd d:eod doaio mol> odd>dd dd,'Jdd

96021

B) New Dairy Development Board

D) None

D) Chemistry

,:od: ddol::qd'
D) dmooda{

C) doa;n:deaoi.

ROUGH WORK

B

D

A) doid udodd
ci udoer! ude:add

14. The study of micro'organ

A) BotanY B)

artd udro$dd*
B)

B) ?sorl'3d add>d
D) obddo ero-

isms is called as

zoologv C) Microbiology

ioro*ear de

A) nndo{

A
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is not a deliciency disease.

A) Anaemia B) Goitre

dJaddo$ doedds.

D) dqabo"

C) Hepatitis D) Scurvy

rililtilllilllllllllillilllll

D) Hanneman
15. The founder of Mathematical analysis is

A) Madhava B) Aryabhata

rlrddsai adeddoo &sD$d
9.t

A) dJDdd B) erobrqjr3

C) Sushruta

C) rDdld

16

A) djbedd B) rldrlod C) dd€rtr

17. lnternet can be defined as

A) A sottware program installed on a computer
B) An electronic device for printing document

C) A world-wide collection of computer network
D) A power backup source

erodotnod$". * ddndG, Drmrd d>dud:d:
A) dmdod:o$dO_ udrso*.lad t od: mqdeo
B) oasDeirlddi *:ede.u erudolneniod ad:rugd mfrd
c) ed.imd,,od iimdoOo$dd zne.rd do{d
D) adds" de$ddo$,r-add

18. Washing Soaps contain
A) Potassium salts of faty acids
B) Sodium and calcium salts of fatty acids
C) Potassium and sodium salts of fatty aciOs
D) Sodium salts of fatty acids

D) -A0
' do:

i"-ffi,ffi n, ddnd otad erodrrddJ doood ?

:l yqF uub;id rar{o$o ai:d: doeao$o odrau, Erar?F udl.ldineeo$o a:* 4puoraoJ:o e.rdeaD) ftaqp udg.ld ioeao$o eldra

SPAcE FoR noucr woR[

A

I
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D) Natural gas

D) {inrd eOer

D) Aryabhata

D) ero1>rqJtJ

19. Which of the following causes least pollution when burnt ?
A) Petrol B) Diesel C) Coal

20.

:dld-O_ olDdeb e,Do,rJ6id dO{ dD0d,,ddl wor^DdjEd)dd ?A) dr3geo B) aeid " "C) dO_du: -
coined the term Nano-technology.

A) Richard Feynman B) Richard Watson
C) Norio Taniguchi D) None ol the above
yrrdoS- riqe;x oou dddd: dziAddd)
A) odc.r dd6f
C) doeoo3n ilo*r1

B) orSccr aD,,tiaf
D) ubeOd oJradn eet_

21. The first ever artificial satellite to orbit the earth was
A) Sputnik B) Exptorer C) Vastok
zJnarcu: ddli aaoad dode; {dd wdfd
A) iD"[d6' 

* 
B) o{dqlao- c) oadnd

22. Which of the following is an example of genetic variation ?
A) Two children have different eye colours
B) One person is older than another
C) One person has a scar, but his friend does not
D) Todd eats meat, but his brother Rod is a vegetarian

€s 8Cnddldde) olDddJ erd)dogd dJaDorari e.,rrDdddobnd ?
A) tJed ded d{p ura, doo6d odd: d:d*s1:

B) ?-aljlnod do$ralC dJfo%
C) t uld:28_doood , udd {ebdori abaf,eer_ad:d;ci:
D) 6J466 dnoa-oaro sdd erdd dd3oaa" iraro-ao

23. Who invented penicillin ?
A) Alexander Fleming
C) Galileo

dOoorerd: do&&addd:.,J q,

A) oeJna^odd {amn''
C) riOOotne

B) Newton
D) None of the above

B) dodtio"

D) d:eOd obddo uc.t-

SPACE FOR ROUGH WORK

A
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24. Expand HTTP.
A) Hyper Text Transfer Protocol
C) Both A) and B)

HTTPo$ add diad
A) €dd dL,s3qdo' dgt3oeuao"
c) A)abQB)addn

C) oa. dnerxr d:oodJtf

-8

SPACE FOR ROUGH WORK
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B) Hide Text Transfer Protocol
D) None of the above

) {o" o:r" u3qdo" dguioeaao
) d:eOd oJ>{do ere.:-

B) ro. oo. oxi'. naoa.:oa{n:"

D) d. oo". uder

B

D

25. Which of the following is not a naturally occurring nuclear tuel ?
A) Uranium - 238 B) Thorium - 233
C) Plutonium - 239 D) None
qdrldO_ olDdd a3d.,edaan rrrbd dddnea:.aodddo_ ?
A) ohrodepo$o-238 B) draeoo$o-23S
C) dBrioeao$o-239 D) ob$doex.:_

26. Helicentric system given by
A) Nicholas Copernicus B) Galileo
C) Oldham D) Einstein
dnoJrrf eoed d^#o$$ oeadddr
A) oEoeeJdlai*#oali B) riooo3ne
C) t egdr D) a6,6rydf

27. The iron age
A) 4000-3000 BcE B) 30OO_ 1O0O BCE
C) 1000 to present D) None
de?jD obrl
A) 4000-3000 BcE B) 3OOO_ 1OOO BCE
C) 1000 oode.ge?,3ri D) ob{doero_

28. Who was the father of White Revolution in lndia ?
A) Dr. Norman Borlaung B) Dr. M. S. Swaminathan
C) Dr. Varghese Kurien D) K. N. Bahal
tpddd gd goOoJ: asa$d o!D& ?
A) o. inabror droeoo_orf'

A
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29. RNA means
A) Ribonucleic acid
C) Both A) and B)
RNA aodd
A) de,il?do_{6" q:,ac
C) A) ab$-B)a8dro

30. The lens used to construct a Microscope
A) Convex B) Concave

31. The earth originated
A) 4.6 billion years ago
C) 2.6 billion years ago
z&atuobz;doed1
A) 4.6 sool).rc ddrrld aod
C) 2.6 aloo$o" ddrrld aod

33. I nternet works on
A Packet switching
c Both A) and B)

erodo m e.: i odd r dl o c$rPd r u-a:dlct>

A) mrdr udon{'
c) A) $dl B) oddo

father of Genetics'
34.

is regarded as
C) Hug

A) Mendel
B) Bateson

d.J@$d.

p**aU1Aa aoinodd erudoiaeniDd *irad o$add ?
A) aedd:iod B) Odb. abdrad Cy q_aeS

C) Biconvex D) Biconcave

abnod D) q-odl$nrad

B) 8.5 billion years ago
D) 1.3 billion years ago

B) 8.5 t)Oo$6f ddrrls; bod
D) 1.3 zsOo$o" ddrzid bod

D) Nilakantha

D) Oee.rdod

B Circuit switching
D Main switch

B) ddradrt, Blz3on"

o de beris D) Darwin

C) doddoe a e3oF" D) FrarFr

96021

B) Radium Nucleic Acid
D) None of the above

B) deBo$o do.Au' eLac.
D) d:eod ou*icro Ue-:

32. Ganita Sara Sangraha is written by

A) Aryabhata B) Mahavira Acharya C) Bhaskara

rle&dxnddo{ddQ udddd>

A) ero$r?.tjui 
* 

A1 d:oaotd erzrood:r C) wD{d

)

)

)
)

&odo
deoid

E) deu;r
A)

A

SPACE FOR ROUGH WORK

D) $eil'P'iztr
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C) *)ddeuo.
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D) Delhi

D) ddo

D) Punjab

D) docacr"

D) Cootant

D) dneJoor

-10-
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..i,HirliJj:;i*il::':,-studYot''U:i""f :di?1Xy

ci Human behavtour:": '_:_-; e:{.,,r.rd ed.oldaand ?

xad>dd amggddr ddnd o$addd9*"d""9;;i.0, a"au

36. The discovery of'Cape of Good Hope'goesto 
espucci

A) Cotumbus Di Bartolomeu Dias

C) Vagellan
li*, o+" rba'doea'' asDdd u{edd 

B) ffd)tu,
A) Eoe;oarx' Oi enaniOodDd do,aF'
C) drtsr6"

37. An examPle for G'M' CroP- 
AJ Goben rice 3] il"" of the above
C) Salt

'a{ddo- olDd& G'M' de'roood* eruolddd ?

ni ,r",$" u.n " B) e'coe'

Ci *d " D) d:eodoln{dnere;-

38. Headquarters of ISRO is situated in

A) Chandipur B) Chandigrah C) Bengaluru

ISRO deo{ dqJeo"'adrdd:
A) z3oae$o' B) z3oaerl6r C) tJoddod:

39. Which State irrigates largest percentage of land ?
A) Haryana B) Uttar Pradesh C) Maharashtra

dziii ?iJotuo$Q peordod z.ddaa&d oaan odn{d> !
A) doolDea B) vr{d $ded 

- 
C) d:aao{

40. Graphite is used in nuclear plant as
A) A fuel B) An electrode C) Moderator
ddd>eo agddrldO_ rg{ud)

A

SPACE FOR BOUGH WORK
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aeet'eT:".tryative 
in P".t-. B.

,tr,t.###,*mneras

trad - e^r

i. trgsdzid erd,o$dli ;{nCerdrcfud

l,j :rd4 $ea doddqe erd,o$drv. dDo$odrldsdrobd"

lwwililililtilw

1. dd,oai

.. g"ra#
3. dmobJoi

ttdd$:
c(

A) 1-ii
B) 1-i
c) 1-iii
D) 1-iv

a. do aaod
"!.

2-i
2-ii
2-iv
2-iii

c*Pd,p"

3-iv 4-iii
3-iii 4-iv
3-i 4-ii

-3-ii 4-i

44. Pradhan Mantri Awaas Yoana of Government of lndia is meant for

A) child develoPment
B) House for individuals

c) ski ll develoPment
D) None of the above

rpd turdd$od $o3,mx" oiraesdo]) * #rr.i dDdq &doec3doJDnd ?

A) s{s uQ4,o.
B) deoio ?J oadodozto d:d
D) a3reod oln{dn ue.r-

C) fldou

A

SPACE FOR ROUGH WORK
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(15x2=30)

Hi,,}-H" il* ..l;}kfi' :""' "'" 
art ectin s hum an cosni{on'

a1 ' Which ot the {ollc

"'' 
"*ottont ""0 l]l'i],1'"rowave ovens

A) Bus' aeropla

;) ;;;;,,,," "i""Xl['; ]ffi :i ::.."nication 
devices

:\ '::"Jl""l':!11;;;'' missites 
, , , .nddd sod, ,.pdd d:Q {oddrtd 

dred

ddnd dDd oaogd elr$'a"oco -'''odddc: a

doaad: u:e&dd ?

A) t":';'o^' edrai' d#9ed'o 1d'-'--.,

e1 on"c';1 
T#3? Htrl*,.*,'u xadddst

C) eroddaae

D) roodnera: fd' oa-oq' gied

42. LASER is used in these areas

A) Medicine and industry

B) Military and law

. G) Research and laser light show

D) All of the above

LASERerdl €r d"rgddO- t^xrH€ed

A) EdQaarlotrood
e) {d aarln odn;b
C) iodoeddaarlo e3do r,iCaddoe

D) dreOd ae.t;;tp

r-

I

A

T
I

SPACE FOR ROUGH WOBh

\
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45. The process of introduction of weakened palhogen into a human body is

called

A) Vaccination B) lmmunization
C) Attenuation D) None of the above

d:a:re.: seuaeoriddld:d:dd Aed{ deoiod $goboJrq €, oe3 dedcnd:.Jd

A) 6%Ejied.,6 e) edqdnedo"
C) ouSd:ro3:edo" D) d>eod oJ>{do uo_

46. The first structure of DNA was determined in

A) 1953 by James Watson B) 1 953 by Landsteiner

C) 1953 by Danvin

DNA od> d?3do$dl

D) 1935 by Plank

ddd dndq: pdrorrd&.

A) 1953 dO_ dedl atrt^lp' B) 1953 dO- oroci"{edo
C) 1953 dO_ @DarF' D) 1935 dO- Wa-otr

47. Difference between hybrid and transgenic or GMO plants

A) Hybrids live longer and transgenics live shorter

B) Hybrids arise due to cross pollination, while transgenics are produced by transfer

of specific genes from different species

C) Hybrids are generated from grafting but transgenics result from germination

D) Genes in hybrids are under breeders' control but in GMO plants they are

uncontrolled

Dgde abdl dooodo odoa GMO dedendd drori
A) tugd9d$t 6e+FEDedB, $saodorlCr eertrre ud)d)$d
B) tu$deri$b ud doadgo3:oood w€3o$add, d:enodo ded$b ear{ sd)do5eo$

deorlddl aJed meo$ 3{rieod erddaa erueaaSe>hd

C) a:gdedddl dadnd:dydood dolnoldd, d:enodoridQ doddoood
dolnodoii:$d

D) ar939ddO_ er$do9d dearlsb dr,rodd OotajeadO;i:", d:oododdO_ ed: mdrao_

A

Iil]iltfllt[utfl1ilNtilt 96021
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48. The process of hypothesis testing has
A) 6 steps B) I steps C) 7 steps D) 8 steps

agde.r;Jof: doed*ol: Bg o3roil dodrlddl e"drlooad.

A)6 B)e C)7 D) 8

49. Expand DBTand DST.
A) Department ol Biotechnology and Department of Science and Technology
B) Department of Bacillus Technology and Department of Sparrow Training
C) Both A) and B)
D) None ofthe above

DBT $+ DSTo$dl adorJ Ddooo.
A) BtrDttrrabotf uf uosnet3ro*erd eldoEtr AEDttrFd)o$ (,wr {quroa. t}ra*en

B) BEDttrFd)otf uf rDl.)e)x,6 tiaonod urod Aotfrubot ser ro.ddjae gooff
c) A) &* B) addo
D) abeOd oJn{do uo_

50. PSLV means
A) Polar Satellite Landing Vehicle B) Polar Satellite Launch Vehicle
C) Polar Satellite Load Vehicle D) Polar Service Launch Vehicle

PSLV oodd
A) {3eeod: wdld ergoaon"' aadd B) fr3aeo$ en:dld eruaadea mdd
C) {3Oeod: oud$d ejoea. aadd D) $oeo$ deaa eruaadco aadd

51. INTELSAT stands lor
A) lnternational Telecommunications Satellite
B) lndia Telecommunications Satellite
C) lnter Electrocommunications Satellite
D) None of the above

'aotSorund Ad.)d drad

A) qo[,3of &6dde, rsoddqededq 5Ddr^]eiurttr

B) soaoJD rSodd))60fedEl rDdseierr.f

C ) eoucr" ae3torddgodedq Dd Beiirrrr

D) &eodob{douel

A
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52. Example for Renewable and Non-Renewable Energy

A) Wind energy and coal B) Solar energy and solar energy

C) Natural gas and natural gas D) None of the above

€r ddnd o$adc$ daedoiud>od d:d3 doedoier e:dd dtoO d:oe;rld
erDoEdd#olDhd ?

A) eoar oddr $d3 doeo B) ioesoo od*r d{ ioeend oddr
C) oarz$der nDdxe $dl oarz$do'rors' D) d:eOd oJn{do uo_

53. The outermost layer ol the earth is

A) Magma B) Mantle

C) Crust D) Solid iron core

cjo&o$ edrod dodAd drrEddd)
A) dDdts B) d>roeo
C) 4f, D) 5)Ocr adar dneo

54. E = mc2 is an equation to prove

A) Photoelectric etfect B) Radioactivity

C) Brownian motion D) Theory of relativity

E = mc2 ooo:cb dl Odra.lie.acbd nrog.

A) dd$ ed>ds" domDab

C) ?,e,oodJd'r3od

55. During White Revolution, the research institute ol

vaccine called

B) Asdlogeod

D) xadeld rroa"od

B) Gujarat - Raksha

D) Cow- Raksha

B) rbxoaa - dd*

D) d-..o - dd*

developed a

A) Hyderabad - Raksha

C) Hyderabad - Vaccine

De Ego-90$ idJo$dO- iodoe{oa 3o{os:>

A
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etudo$d1 dod:baoor$.
A) drdoamo" - dd*

C) dudotoo" - e;aE


